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IHPOTEINOMENEX
AITANTHXEIX OEMATQN

OEMA A
Al. .z, B.A, .2, 0.0\, €. N\
A2.1.y,2.01,3.B8,4.¢,5. a

OEMAB

B1l. a), B) 2eA. 367 oL dUo teAEieg

B2. Uco = Io*Xc=> 200 = 1,*10-> |, = 200/10=20A
|=20*nu(w*t+90°)

B3. 2eA. 459 ka1 463

a) artAn avopBbwon

B) mAnpng avopBwon pe yepupa

OEMA T

[1. P=v3* U* I, *ouvd = V3* 400* 5V3*0,8 = 4800W
r2. P=S*cuvd->4800= S*0,8-> S=4800/0,8=6000VA
3. Iy = lyp /V3 = 5v3 /¥3 = 5A
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r4.Z = Uy/ I, = 400/5=80Q

OEMA A
Al. U= I*X>12=12*X > X =1Q

A2. U= %X > 12=1,*1,5 |, = 12/1,5 = 8A

U=Ir*R> 12= [g*4-> Ig = 12/4 =30

A3. 2 = (I- 1)2+ Ig2 = (12- 8)%+ 32 = 4%+ 32=16+9=25-> I=5A
A4.Z = U/l = 12/5=2,4A

A5. S = U*] = 12*5=60VA
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